BEICEAREICEDIXIBEBLEIRARDHHOTE.
IRA EFEOICEVBEERARBIESNET !

FIZIX. BE1,000 DT LEDOHLIEEEN., FR2TEDKE
TWANESFITH D LI-SEDELZNADTE

r w r . A
550D FEH IR A L 57 45451 %@ F
9005 H :> 1,000 M
- J W J
: % RIZEAR D
BESEROINALEE .EMW\%E ®
1,0005 M 1,0005 M 1,0005 M 1,0005 M E 1,0005 M
50075 F
264 274 284 29%F 30&F 314
O 0.51% 21 1E 14E
05+2+1+1
OERED . 2 = 1125

O A EF 40K BHERE:
(1)BEDFHYNA x EHEEDFEHD3E 900HM x 1.125° = 128150 @D

(2)FABEEDBAEDTEHRAD(1,2815 M) &, RIREAM D RIAIA £EEQD (1,0005 M) ZLLEL
T LI hMEWNAHEEIA,

= 1,0005H



